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1 IMPORTANT INSTRUCTIONS :

Answer all questions. s
This Questions Booklet contains 175 questions in
all compnsing the following four parts:
Part-1 : General Hindi and English
(@5 Ques., Carrying One Mark Each)
Part-11 : General Intelligence Test and General
Awareness, General Computer knowledge
(100 Ques. Carrying Three Marks Each)
The candidates should indicates the correct Roll
Number, Registration No., Category, Questions
Booklets No., Exam Centre Code, Questions Booklet
Series, Date of Birth and Sex on the OMR Answer-
Sheet otherwise the Answer-Sheet will not be
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for it. )
Each question has four alternative answers. The
candidate has to darken only one circle/bubble on
the Answer-Sheet using blackball-point pen indicating
the correct answer as shown. If more than one
answer/option is found darkened, then the question
will be treated wrong and will not be evaluated.
Example : ® OO O
Rough work is to be done in the space provided in
the question Booklet only.
Use of white fluid or blade for correction on the
Answer-sheet is not permissible.
Use of Electrédnic Calculation and Mobile, etc., is
not permissible.
After completion of examination, you are allowed
to take away your Question Booklet.
There is no negative marking
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Direction to solve — (Question 41 to 45)

Choose the word which is the exacl opposite of the givenn words-

41

42
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45

Direction to solve (Question 46 to S50)

Enormous
(A) Soft

(C) Tiny
ARTIFICIAL.

(A) Red

(C) Truthful @
BUSY

{A) Occupied. .
(C) Relaxed @
COMMON

(A) Rare

€C) Potty @
ILOVE

(A) Villainy y
(C) Compulsion

Find the correctly spelt words-
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A paper written by hand-
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Modern
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Manuscrip
Thesis
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Direction to solve (Question 53 to 57)
Pick out the best one which can complete the incomplete sentence correctly and
meaningfully-
53 I felt somewhat more relaxed

(A) but tense as compared to earlier

(B) and tense as compared to earlier

«(C) as there was already no tension at all
(D) and tension free as compared to earlier

S4 He has no money now ‘
(A) although he was very poor once @
»(B) as he has given up all his wealth*
(C) because he was very rich once
(D) because he has received huge donation

55 He tames animals because he @
e (A) is fond of them (B) hates them \
{C) is afraid of them (D) wants to set them free
56 The officer who had neglected to file his income tax return had to
{A) returns the files « (B) pay a fine
(C) be rewarded (D) play mischief { )

57 The weather cutside was -extremely pleasant and hence we decided to
(A)  utilise our time in watching the television
- (B) refrain from going out for a morning walk
e (C) Enjoy a morning ride in the open
(D) remain seated in our rooms in the bungalow }rﬁ

Directions to solve (Question 58 to 63)

Find the correctly spelt word. )‘X‘\QA )pr

S8  Solve as per direction given above— ; @ Ay 2
(A) Benifitted (B) Benifited {C) Benefited (D) Benefeted

s9 Solve as per direction given above-
(A) Bouquete (B) Bouguectte &C) Bouquet (D) Boqquet

60 Solve as'per direction given above—

,@/(A) Humorous (B) Ganerous (C) Pupolous (D) Maretorious
61 Solve as per direction given above—
(A) Faithfuly %B) Sincerely D(.(C) Truely (D) Affectionatly

- 62 Solve as per direction given above— '
(A) Gaurantee (B) Guarantee - (C) Garuntee (D) Guaruntee

63 If someone hives in a state of art home, it means its: "j\
(A) Cheaper — v
(B) Moderately comfortable 1€ W

(C) Old fashioned
(D) Modern and technologically advance
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Skill + fut N R
& LA) Skillful P et

(B) Skilful .B
«¢ (C) Skillfull -

(D) Skilfull

Marry + age
(A) Marryage

(B) Marrige @
*(C) Marriage
(D) Marniage

Give the future perfect continuous form of “I love” X
(A) T have been loving ﬁ
(B) ' 1 had been loving C’q/$ ~

« {C) 1 shall bave been loving . }\
(D) I shall be loving ' ‘%

Give the past perfect continuous form of “l speak” in second person.
.(A) I has been speaking
B) You were speaking

(C) You had spoken /L'
e (D) You had been speaking

g et (RYEE) &7 TS SUiT
(A) Receive

_AB) Recieve re N &
(C) Receeve Q«ﬁfc’\
(D) Recove “

{A) Personal b
(B) Personnel @ W
(C) Perusal ‘

(D) Official

Exonerate ®71 &= war=a<

(A) IR gz uxgfa \ﬂ
(B) IR gfee &HAr -
(C) a3mRu fag AT

(D) 3T HEFT BT
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Directions to solve (Question 71 to 75)

Join these parts to make a meaningful sentence The correct order of parts is the

answer-

71 1 I _
3 Salary
5 Want
(A) 43152
{C) 25143

72 1 Bag?

3 Seen

5 My

(A) 51432

(C) 43512
73 1 Medicine

3 Neeta

5 Was

(A) 51423

(C) 42531
74 1 Killed

3 Jaswant

5 Wild

ALA) 31254
{(C) 23145

75 1 Not
3 Comfortable

S The )
@
S

PR

(A) 34521
¢ © 524134
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PART-II : General Intelligence Test & General Awareness, General Computer knowledge

76 Which of the following is related to Yellow Revolutign.?
(A) Fishery (B) Food grains production @
(C) Milk production « (D) Oilseeds production

77 Minimum support price is decided by

e (A) .I.C-A_R (B) State governmemnt
.(C) CACP (D) None of these (2°)
78 The principal folk song of UP is
(A) Dhamar 4(B) Birha
(C) Tappa (D) Qawwali

79 Which one is not finance institute?

(A) ICICI1 (B) IDBI @
*(C) BC(CI (D) IFCI i
80 One rupee note is signed by? ’ @
% (A) Governor of RBI «(B) Finance secretary /.
{(C) Finance minister @) Prime munister

81 Which animal is called ‘Slmp of Desert’?

{A) Horse «(B) Camel
(€C) Sheep (D) Elephant
82 What is the main source of energy on earth?
«{(A) Sun (B) Moon
{(C) Fire (D) Ocean

83 Besides India-America, Indian navy has started ‘MALABAR’ fighting exercise
2015 with which country?

(A) China (B) Russia /@
(C) Britain e (D) Japan

84 In which area ‘“Pada sahib phatke award’ is given?
(A) Cricket (B) Hockey a
(C) Football +« (D) Film

8S How many seais are fixed for Gujarat State in Parliament (L.oksabha)?

LAY 26 B) 25
) 20 D) 21
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86 Which one of the following is useful in the treatment of scurvy disease?

(A) Mango (B) Papaya
«(C) Aonla (D) Berry @
87 In whose leadership ‘Indian National Army’ fought?
(A) Arvind Ghosh (B) Veer Savarkar ,
(C) Jawahar Lal Nehru « (D) Subhash Chandra Bose
88 Indian National Congress was established on:
(A) 1882 (B) 1884 , @
(C) 1885 (D) 1889
89 The Headquarters of the United Nation is at-
(A) Geneva (B) Paris %
k(€) New York o& (D) Washington D.C.
90 When is world Environment Day celebrated?
= (A) 5 Junegy - » @) 7 July
(C) 21 Decemberol . (D) 23 June

91 What is body temperature of a healthy man?

(A) 31°C (B) 98.6°C @
(C) 37°C (D) 39°C
192 7/ Reason for sky to appear blue: _
(A) Diffraction of light (B) Scattering of light @ @
(C) Internal reflection of light (D) Refraction of light
93  Which of the foliowing is the general direction of flow of summer monsoon
in India? :
(A) From south to north (B) From south east to south west @

(C) From south west to south east )D) From south west to north east

94 In India, national icome is computed by which of the following? _
(A) Planning commission (B) Ministry of Finance
¢ (C) Central Statistical Organization(D) Reserve Bank of India

95 ‘Tripitaka’ is associated with which of the following?

(A) Jains . (B) Buddhists

(C) Sikhs : (D) Hindus
EJE-2015_A ] 13 [ P.T.O.
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(A) 3IIF=WR 320 (B) 3rf=Da 322
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96 Who among the following has not won the Noble Prize in Medicine in

20157
(A) Willilam C. Campbeli (B) Satoshi Omura @
{C) Takaaki Kajitae (D) YouYou Tud&
97 ‘Human Right Day’ is observed on:
(A) 10 December &g~ (B) 9 December
(C) 10 November (D) 10 October
98 National Voters Day is celebrated on- |
(A) 151 January AB) 251 Janmary @
(C) 15t February (D) 25t February
99  Which of the following in used in the preparation of nuclear bombs?
(A) Zirconium e (B)— Uranium
(C) Molybdenum (D) Vanadium ) @
100 Which committee.recommended for three tier panchayati raj system in India?
_* (A) Balwant .Rai £ (B) Ashok Mehta @
(C) Hanumant Rao. {D) GB.K.Rao

101 The term “Socialist” was brought into the Preamble of the Indian Constitution
by which amendment?

(A) 32nd «(B) 42nd /C
(C) a4th . (D) 74t w
102 Which of the following is not a Indus Valley Civilization Site?

(A) Kalibangan (B) Ropar
(C) Patilputra = (D) Lothal

103 Excess of which of the follovvmg in the blood causes the “Blue Baby
Syndrome” disease?

(A) TIron (B) Lead ' -
(C) . Methamoglobin _s (D)—Nitrate
184 In which article of Indian Constitution provision of Election comunission is
mentioned? = 4
(A) Article 320 (B) Article 322
RLC) Article 324 (D)  Article 326
105 What could be the maximum time limit of “Zero Hour” in the Lok Sabha?
o2 (A) 30 minutes Aﬁ) Onmne hour _
(C) Indefinite period (D) Two hours
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(A) ey ®) =Frad

(€©) = . ® g
107 ﬁwﬁ%aﬁaww%?

(A) TAASH B) <D

(©) ISR o D) . IIBHFRB<

108 mew?ﬁmg?

(A) #HERHT ITER (B) TAOEAAd A8S
©) T TmER e (D) gAY T S
109 I8 WId SIsi sdadH 9 dig As—WeE BT e fear ar ?
(A) @R ’ (B) wINT
(C) Ty D) HRATS
110 34 &1 adpgad HH 8 ?
(A) M= g ' B) TA. & AT
©) = b= D) s | g A8
11t ﬁﬁ@ﬁ@?ﬁo—rmﬁﬂﬁmw%?
(A) A TEd B) JgEha HTAR
(C) NN HEAR D) < 9HIE Jed
112 KT sha Reg & 2
(A) U9f¥=# s A (B) 3T UIIT H
©) st #H (D) ey
113 3<R&r A HAST 797 9Rd BT g9s8al] Suug o471 2
(A) HRBR ®B) Afaoh
(C) amdwe D) TwA
114 3o @Fem) S wenfda gam o ?
(A) 1981 (B) 1982
{(C) 1985 ' (D) 1989

115 afe @ a1 § w9y war aRE a9 BT 2 AR =5 gch g gd & N
mm@ﬁ%mg%maﬁﬁﬁmm?
(A) gféor—af¥ss . (B) <faéyor
(C) uf¥am O) TR
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106 In which of the following crops Uttar Pradesh is not the largest producer in
India?

(A) Potato - (B) Rice~ @
(C) Sugarcane - D) Wheat

107 Which of the following is a stem?

(A) Tumip (B) Ginger
. (C) Carrot &SP) Sweet potato
108 The writer of ‘Discovery of India’?
(A) Mahatma Gandhi _~B) Jawaher Lal Nehru
(C) Bal Gangadher Tilak (D) Subash Chandra Bose
109 The place where Harshavardhan Organised a Buddhist council was
(A) Kashi - (B) Prayag (26
(C) Ayodhya (D) Sarnath
110 Who is Lokayukta of UP? :
. (A) Virendra Singh B) N.K.Mehrotra
(C) Jitendra Singh (D) None of these
111 Who has been made deputy Chief Minister of Bihar?
(A)—Tejasvi Yadav (B) Sushil Kumar (@@
(C) Nitish Kamar (D) Lalu Prasad Yadav =
112 Chilka lake is situated in o _ °
(A) West Bengal (B) Andhra Pradesh @@ A

«(C) Orissa (D) Tamil Nadu “,\

113 The first satellite of India sent into space was
(A) Bhaskar h (B) Rohini
« (C) Aryabhatta (D) Apple

114 Export Import (EXIM) Bank of India was set up in the year
(A) 1981 - B) 1982 —
(C) 1985 @) 1989

-~

115 The time in a clock is quarter past twelve. If the hour hand points to the east,
which is the direction opposite to the minute haand?

(A) South-West | @B) South | @
(C) West e (D) North
EJE-2015_A | 17

[ P.T.O.




116

117

118

Th 89 B B IS HAT IJSHT IM D 2| oA IS, FA D fauda B
I, U A IR Bl B 4| H 81 AT US WBE B IMES B Rl
W g A & T Bl B USSP M AN BT F ?

(A) o, L 9RT R J9BE (B) @, AL PRT AR A
(C) <, i, Nen IR '@ha (D) @, ayn e iR "ew

ﬁwﬁ;@a@#ﬁf&vﬁaﬁw%vﬁ%m wEE H ?

(A) S99 : YT \ B) AL : TcT
©) fRwra @ B . O T TR ey
SR - A9 H gf e 8 o gferw s=Raew 7
LA ER B)
©) == . ») A

119

120

121

122

123

= :{4 :

mﬁ%%ww@amwﬁl

4, 9, 16 ? 36 .

(A) 20 ® 26
©) 25 D) 30

g *re & Wi W w_aﬁm IR H TAGT BN |
P m: RS 1C 7

A) BR ®) E%
(C) = | D) T

TH s H A T @ BN IrET A o9 Higd 8 sY uHina ¥ A fartsyy
B @H B fau A @ =Sfde| o a9t @B mawgmar 8Rfr ?
(A) 36 @B) 4781 :
(C) 6561 ' (D) 7248

TH AT B &7 oIsfepal 81 3rTar g=ar Y57 89 9Y aSHr 81 &Y 9T
wHEr B8Rt ?

(A 1/2 (B) 1/3

< 1 D) 1/41

/19 = 76 /7

. . (A) 34 ' @) 19
(C) a7 D) 38
=1 St | aETenr 3 @T Brm 7
3, 8 15, M. A
(A) 35 A (B) 36
©C) 37 T D) 38

125

WWWWWW%WKQG@W
mﬁmwm%?

(A) = o B) &=
(C) Ured ®€w D) vHHA sEdS
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116 A cube has six faces each of a different color. The red face is opp031te to
black. The green face is in between red and black The blue face is adjacent @

to white and brown face is adjacent blue. The four colors adjacent to green
are.

(A) red, black, brown and white‘ B) red, biack, brown and blue G
(C) red, black, blue and white (D) red, brown, blue and white
117 Which of the following pairs has the same relationship as is found between
Australia: Continent?
(A) Engine: Train /@ . = (B) Vikrant: Ship
(C) River: Coast (D) Yuri Gagarin: Space
118 The relationship between Doctor : Nurse is same as in Police Inspector?
(A) Thief @ «(B) Constable
(C) Pistol ' D) Jail
119 Find the suitable number in place of mark of interrogation.
4, 9, 16, ?, 36 : ?)\{.
(A) 20 (=9 ® 26 @ ot
o) 25 ®) 30 32 o
120 Suitable word in place of interrogation- 2
* Ear : ring : : Nose :.? e
(A) Necklace SN @) swd @ X
(C) Anklet 6_"/. (D) Bracelet

121 A tree has nine branches and on each biranch there are nine nests. Each nest

having nine birds and each birds needs nine grains to be fed. How many
grains are needed?

(A) 36 G @ a7
. (C) 6561 - D) 7248
\-}2 A woman has two daughters. One more child being bom. What is the
probability of it being a boyX
o(A) 1/2 B) 173

©) 1 o) 1/41 @

123 What is the number in place of the interrogation wmarks?

2/19= 76/? B
(A) 34 /) 19 @ /é’ '
© 47 . (D) 38 i
124 Which will be the next number in the following series? _ }/
3. 8 . 15, 24 : g, |
«(A) 35 Do (B) 36 oy
(C) 37 O (D) 38 o) 5" -
125 If a Journalist is related with news then a philatelist is related with.
(A) Trains {(B) Medicines
(C) Postal stamps ¥, — (D) Animal husbandry @

EJE-2015_A ] 19 [ PT.O.




126 fo=ofaa & @ 9 w1 = areggs, qfzen ik 3 & =9 99
wmwm%?

127 If& ‘98 7 ‘SA BET AGT B WA BT @SH aUl HSH BT Q@IS
MFAT AV TP BIIS OBIGT BBl Fsdl = ?7
(A) 3T 3B) =H= ©) =T D) =

128 fr=ifda St § amren /@R sia B ?

A < B) ¢ (©) wH o =

L 129 WY B Fr=faRaa wE ¥ fBaT o9 6 2, R gdadt 9 B s uxadt
W9 B 7
6 6 9 6 99 966 69 69 66 9 96 6 9 9 6 6 6
(A) 3 B) 1 <) 4 » 2

130 Tfe P1g HIT 10% 9@T o1 ¥ 242 B SN 8 oY go1 &=y 8 7
(A) 230 @) 220 (C) 232 D) 252

131 sTs—q'WASHIN;;TOVﬁa—sa%‘F{waxm%'ﬂ‘rﬁi—vﬁu'\'(m)%aﬁr
HeEgy &8 oft gviEie 3 & ?

A N B) T cy /O D) G
132 =g § 9 99 Tt &= 8 ?
(A) 9=R (B) IRINE
©) g D) 3IpaEN
133 F=fafRga & 9 9 & s 3w 9 959 2| g9y ?
. (A) T B) drar
(C) == (D) =91 2 g
134 <. 4ooows%a%mﬁ$avﬁzaﬁﬁaaﬁ%mﬁmmm 7t
(A) 5 410 B) $ 420 : /y/‘" ’
C) = 421 D) S 427 > (/ y
135 WR @ aren |99 BT Ty St 7 9 et 2 ws 2 o 4 1D
(A) 1101 (B) 1108 '
(C) 1001 (D) 1007
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126 Which of the foliowing diagrams best depxcts the relatlonsh:p between teacher,

fernale and miother? C
A @ @®) - ®

o (O C D)
Wi

127 1f rain is called ‘“Water’, water is called ‘Road’, Road is called ‘Cloud’,
Cloud is called ‘Sky’, Sky is called ‘Sea’ and ’Sea’ is called ‘Path’, then
where doccs an ‘aeroplane’ fly?

e (A) Sky A (B) Sea C@ 'ﬂ\/
(Y Parh (D) Cloud
Find tie next lerter of the following senes
5 % -

TOE, MOA M. 3T

(A) 3 AMB) A
(C) s - o T

122 How inanv 6s are followed by as well as preceded by. 9s in the following

set r~* (‘1 rires?

GG "‘)“;56-6‘369.66996_&.99666
C©) 4 WD) 2 (S5

(A) 73 E @) 1

y A number, if increased by 10% becomes 242, The original number is
(A)y Z30 ~(B) 220
(C) 232 D) 252

131 Which letter in the word WA SHINGTON is_at the same number in the word
(counting from the bLeginning) as it is in the alphabet?

%@

(A) N @) T @
Cc; © » G
132 Which one of the following'is the odd one?

(A Babar «(B) Shershah ‘ @@

{C) Humayun (D) Akbar < ‘
7 133 Find out whick one of the following is different from the rest? x

(A) Owl .  x(B) Parrot &
s (C) Eagle (D) Hawk &/2:
/ 'Ridi-i What will be the compound interest on 4000 for 2 years at the rate of 5% &»
; 7 per annum? @
v O A 410 B) 420 |

125 The smelleor 1 izt nimber exactly divisible by 7 is

(Ar 1101 B) 1108 @
e ({ 130y (D) 1007

EJE-20:%_A ] 21 [ PT.O.
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136 dfa =R &1 M[a 10 B BH W wEw Sl W aife iea 12

BT oNad?
(A) 12 B) 18
(©) 22 (D) 24
137 f& o9 & Y &1 aFbA 216 W2 B ISHB] IJATH BRT—
(A) 100 W° B) 216 M3
(C) 480 W° D) s12 ]2
138 ALLAHABAD : DABAHALLA : : VARANASI : ?
(A) ISARANVA (B) ISAVARAN
(C) ISANRAAV (D) ISANARAV
139 9= & 1 RQuy aar & ?
(A) TS - : B) FgE=HT -
(C) < BIS HIAT- D) T

140 9= o
5, 7, 10, 15, 21, 20, 28, X, Yy
H x Ud y B WfF UY HAYE T HSAT B8R 7
(A) 20, 25 . B) 35, 40
(C) 25, 35 D) 24, 30

141 afy INDIA @& =9 G e AT H 95491 oy ong o1 DELHI &1 59
gprR fE@r sem ?

(A) 45389 (B) 45489
(C) 45498 (D) 45398
142 (4, 3, 2) (16, 9, 4) (256, 81, 16) (658636, 7, ?)
(A) 1486, 97 _ B) 190, 20
(C) 6651, 286 (D) 6561, 256
143 3PFIR 246=8, 624=0 3R 327=6 <l 423 = 7
(A) 9 B) 8
" (D) 10
144 BEH, DGJ, NQT, ?
(A) IMP B) RMO
(C) TKL (D) GHD

145

wvﬁw@@%ﬁww@ﬁwﬁmﬁr%?
(A) 28 ' B) =24
) 20 D) e
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’\}36’ I£ the average of five numbers is 10. The number which should be added to déﬂ
: make the average 12, is

(A) 12 @) 18 _, @ | .
L (C) 22 D) 24 o, /
137 The surface ?.rea of a cube is 216 m?2. Its volumg will be Q& 7 N b.fjo
(A) 100 mv e B) 216 m : I
(C) 480 m3 D) 512 m3 /@ &° »
138 ALLAHABAD : DABAHALLA : : VARANASI : 7 P
(A) ISARANVA (B) ISAVARAN *//’/
(C) ISANRAAV (D) ISANARAV. S 4
139 Select the odd one out in the following
(A) Frying (B) Drying >
(C) Sweeping .(»D) Crying XD 4
140 In series 24 . %A — ’
5, 7, 10, 14, 15, 21, 20, 28, X, y 3 ; :
What do x and y stand for? " <y
(A) 20, 25 (B) 35, 40 .
. efCy 25.35% | (D) 24, 30 @ S
1 If INDIA is written as 95491, then DELHI will be written as
o (A) 45389 (B) 45489 %
(C) 45498 , (D) 45398 Q 3 qoX \
A2 (4, 3,2) (6, 9, ) (256, 81, 16) (65536,2, 7) ©*F A
(A) 1486, 97 @) 190, 20 B
(C) 6651, 286 «(D) 6561, 256
143 If 246=8, 624=0 and 327=6 then what will be 423=? 2=
A 9 ®) 8 N
a(C) 1 ) (D) 10 c 4 A
2 1< (¢ i
@ BEH, DGJ, NQT, ? . 3 4 S &%
-(A) TMP ® rvmo @ ABQDQ{:C
(C) TKL (D) GHD
_ : e AL B Y]
N - ) Dop & RSTY
145 | _ | o
LBy | NN e
How many triangles are there in picture? o«®
*(A) 28 (B) 24 o
(C) 20 o) 16 -
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146 € @rs & MISCHIEF @ NKVGMOLN f¥r@r Sien 8, df RELIEVED
a1 fra o A foar s ? )

(A) SFMIFWEE @) SGOMIVED
(C) SEOUVLD (D) SGOMIBLL

147 B & anpfy orw A= A e & 2

A) * h ®)

() @)

148 7saﬁﬁaﬁwmﬁa§mﬁwwﬁ23ﬁ7%iwaﬁ#ﬁrﬁ
Refy = vy ?

(A) 48 (B) as
) s0 - o) 51

149 IS T BT YA ?

(A) DkUZ ®B) LPuB
{C) FoMY @) UXeW

- 150 Sfag HEmT Wl ?
. 7. 18, 60, 73, 117, ?

(A) 150 (B) 161
5. (CF 172 o) 183

151 98 ¥ss gA ?
OTE, PUF, QVG RWH, ?
(A) SYJ @) TX1
(C) SKJ D) Sx1

EJE-2015_A ] 24 [ PT.O.




146 In any code MISCHIEF is written as NKVGMOLN then what will be the
RELIEVED in same hint. i :

(A) SFMIJFWEE B) SGOMIVED ,
(C) SEOLJVLD . «(D) SGOMIBLL

147 Which picture is different from other these?

s
\ %0(
@ = (E35°54
b?b
<
o
©) «(D) S

3}8 Anuj ranks 23™ from the top in a class of 73 children. What is his rank from
the bottom?

(A) 48 ‘ B) 49 . 9b @
(C) 50 ; e (D). 51 ,‘\713 - o
149 Ch he odd t. >
0ose the O . one ou %% /)<
NG DkUZ (B) LPuB S0 e
(C) FoMY AD) UXeW @ ol )
. 7
@3D Choose the correct number? v S
7. 18, 60, 73, 117, ? o
> s > > b
(A) 150 B) 161 4
(©) 172 (D) 183 : X
£ \\,‘\,_}
151 Choose the correct word? :
OTE, PUF, QVG, RWH, ? @ W\ 4
(A) SYJ @) TXI >
©) SKI -@) sxi @{/
EJE-2015_A ] 25
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152 U 8 H 4 sorpk 30 e 8T @ 21 3 a0 & g sk H B o
W%vﬁﬁmﬂmmzﬁ?ﬁ?

@ o B @) ufk=m |
© sSER-E@ D) SER—fEH

153 MEd 9 U TR I AN ZURT HRd ¢ HaEl B IHE A T gen
g A R A S0 AT ®m1 Wisd 8§ @wr w8 ?

(A) 98 3) =
“»(C) “ger : (D) AT

154 siEET W QR B ?

ONZENWANZNGONZ

(A) 30
(© 38 (D) 40

155 Wﬁmﬁ?ﬂmaﬁm%?

(A) IYE | . (B) ITSEYE
(C) HFEIAR D) TR

156 fae 44 > forg @ Riowe @ ?
(A)~ wTE ®) o
T (O wEe ®) sfe

i57 . T acs fEsT SeERYT ¥ ?

(A) TRfT Rreew &7 B) waRiT fSama @
(C) vufterdes AHcaaR &I (D) sYyc fSama @1
158 WTCIAX BT URIHATG ST BIET B i H gy 8 7
(A) JsEEES - ®B) o
(C)q‘m‘m D) 3ifsorae

»
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152 A WATCH READS 4:30. If the hour hand points in North then minute hﬁnd
e - . o v
will face which direction? :

(A) East (B) West “’E %.ﬁ”

&
«(C) .North- East (D) North- West . @ o

an said, “Her mother is my

153 Pointing towards a woman in the picture, moh

wife”. How is the woman related to mohan?
(A) Sister

(B) Mother rqeko»‘*)b
) G,
(C) Wife «(D) Daughter n /

4\
ad :

154 Complete series by the correct answer.

4 8
2 12 4 24
. (A) 30 » )86
(C) 38 ‘ D) 40

155 Computer Mouse is this kind of Device? ' By

«A) Input (B) Output @ B

(C) Software : (D) Storage

156 What menu is selected to print?

.~ «(A) File

(B) Tools @\,
(C) Special (D) Edit

97/ "M.S Word is an Example of

-

(A) An operating system (B) A processing deviée @
«C) Application software (D) An Input device

158~ The main purpose of software is to convert data into

(A) Website «(B) Information @
(C) Program (D) Object
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159

-

T3

160

161

162

163

164

165

166

167

YR AT FORTRAN fFH &9 | suganfiy & ?
(A) GdHEg LR S ‘;,1, (B) W
(C) Tasm » ey & . ©) T
HRYSY AT COBOL fras faw suawrh & 7

(A) IEENAF HY B) ufves @b

(C) 3Jdenfae ™ ' (D) S99 d wie Td
STIC BT Loss Uerbiad = 2

(A) TCP/AP T @) JAVASSE

(C) HTML T (DY T

FHFER 8 7

(©) sEoaa I A" Faw A 9399 T OEET
®O) Sudaa &\
mwmﬁmmm\ﬂwf ?
(A) BASIC (B) FORTRAN
(C) -COBOL (D) PASCAL

PAYSI B Wl BRAIR & oma e @ = oswar & ?

{A) BIGS B) =rsfes
PRSI B BHI—ES H [Fan goEaRy @ 9 (Keyvy voa € 2
(A) 2a (B) 25
(C) 2s ) @) 27

HEYSY I 9TEl H O (BUG) &7 8 7

(A) S TJIEIH BY wwgEi FHfe
(C) fssimz= =T D) TIPSR Sier

wRa # Affa gem guw ergex B gy a9 ey oy ?
(A) 3ITHI=T B) T
(©) 35= D) THger
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159 Computer language FORTRAN is appropriate for

(A) Business ) (B) Graphic
e (C) Science ﬁt‘) (D) Commercial
o oz

"y
160 <Computer language COBO'L/ is appropriate for
¥ (A) Commercial purpose »=(B) Graphic purpose

(C) Scientific purpose 2 (D) None of these

161 Standard protocol of Internet is:

= A¢A) TCP/IP (B)\ JAVA /[ Q,‘%)

(C) HTML& (D) FLASH

162 Compiler is a :
(A) A computer programme

(B) Part 0{ ,mSof’tware_ - 4 @
M) Programme for converting from high level to machine level
«(D) Above all §

163 Which one is used for complex scientific calculation?

(A) BASIC (B) FORTRAN
(C) COBOL (D) PASCAL

164 Checking of different hardware parts of computer is done by? "p
(A) BIOS- T T (B) Hard disk
(C) Processor (D) C.D.

165 How many Keys are there on keyboard for alphabet?
(A) 24 ®B) 25
o(C) 26 D) 27

166 What is ‘bug’ in computers’ language?

T (A) Computer VIRUS «(B) Computer error @
%¥(C) Design making D) Computer data
167 What name has been given to the first super computer made in India?
(A) Akash +(B) Param | @
(C) Arun (D) Siddharth
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168 fr=vifra A & frw UWE®id R dcs dI8S 99 H Ug"a Woal & ?
A) TaAHAY. (B) THUTHAG
(C) TH.Ua.IMs.9L D) T # q P TE

169 TAATHTA &1 fawgs w9 2 ? _
(A) =S TRe WM AT¥qA  (B) BIEIRSHS HIEIMT AW
(C) BER XS ATHIY  Aaa D) Sudaa A d§ PHE T4

17025%‘\’&1?3?&%—
(A)@Tmmmﬁhmaﬁuﬁ%ﬁ?ﬁww
(B)trmwvvhwjm’ra%waﬁmﬁaaﬁ
(C) Sufad & : N 4
O) SudF d§ & P T 2

171 ‘fage) am=lea’ e 8—
(A) UG HEUT 9§ @B) = qﬁm il
(©) Hfsmz ufRaersm | - (D) Hs9 U A

172 Fra 3 X O @ TR & "E9Y Y tedd uHg B 7
(A) I & (B) A= sdct #AHNY
(C) HAftsdr PR A= (D) Y=s" TIHH THN

173 “HISEFISYe a8 SEEIYT B—
(A) U IJfe e &1 (B) Ud gAYc asdaE &1
(C) ux wwatan fEams & (D) U=« dAucdas &1

174 Td3rd AAY . HT IR R wwar 8§ °

(A) TSH aigE W ®) STEREY W
©) = |\ w® O) A "N

175 f=fafma & @ 99 @ dsnfae evger W 8 ?
(A) BASIC (B) COBOL
(C) FORTRAN _ @) s A PIE TR
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w

v

e “"Web? = , o L., ’\
g (A) HTTP, _ B) SMTP _ 6@9
(C) SLIP (D) None of the above
169 H.T.ML stands for:
(A) Hybnd Text Markup La.nguageﬁ 1@
(B) Hypertext Markup Language o A ' Q
(C) Higher Text Markup Language
(D) None of these
170 A computer Virus is i,
(A) A computer program that can rephc;!te 1tself/ ;')L%/!
(B) A virus that affects heaith of human bem/\o
(C) Both of the above 52
(D) None of the above
171 ‘Chipko Mpvér‘?}ent’ 1s r';lated to- - _
(A) Plant Preservation (B) Project Tiger < (ﬁ
. (C) Project Crocodile< (D) Plant Breedmg
172 Which of the following_memories has the shortest aécéss time?
(A) Cache Memory (B) Magnetic Bubble Memory @ ok
{C) Magnetic Core Memory (D) Random Acecess Memory (
l‘!S/W Word” is an example of N
s (A) an operation system (B) an input device . @
(C) a processing device (D) application software
174 Size of virtual memory depends on . -
(A) Address line 3B) Data Base /
(C) Disc Space (D) All the Above
175 Which of the following is a scientific computer language?
(A) BASIC (B) COBOL
(C) FORTRAN (D) None of these
EJE-2015_A ] .31
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Which of the following protocol may be used: for accessing World Wide
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